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Answer-key & Solution

Note : If your opinion differ regarding any answer, please
message the mock test and Question number to 8375805483

Note : If you face any problem regarding result or marks
scored, please contact : 9313111777

SSC JE (Electrical)
Practice Set-18
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SOLUTION SSC JE (Electrical) Practice Set-18

1. (B)

8
2

64 : 513 : : 144 : 1729   

8 +1
3

12
2

12 +1
3

2. (D)
3. (C) Both nautilus and fish live in water and

have some what same appearance. In the
same way duck and teal also live in water
and have same appearance.

4. (A) The second one is the extreme form of the first.

5. (D)
–5

–1
+3

T  S  N  :  O  R  Q  : :  Q  P  K  :  L  O  N
–5

–1
+3

6. (C)

7. (D) 15  30       45   90   135   270   405
×2 ×1.5 ×2 ×1.5 ×2 ×1.5

8. (C)
nd,     iy,       dt,       yo,      tj,       oe       

–5 –5 –5 –5 –5

–5 –5 –5 –5 –5

9. (A) Z    A   U    F   P    K
opp opp opp

10. (D) 1    13     37     73     121

+12 24 +36 +48

+12 +12 +12

11. (A) 

2
3

8

3
3

5
3

7
3

27 125 343 1331

11
3

12. (A) 11  23   48   99   202   409
×2+1 ×2+2 ×2+3 ×2+4 ×2+5

13. (C) 4    8     24    96   480
×2 ×3 ×4 ×5

14. (A) Only tellurium is a metalloid. Others are
metals.

15. (B) H  J  S  M      G  I  R  L
–1

–1
–1
–1

Similarly,

S  O  F  T       R  N E  S
–1

–1
–1
–1

16. (A) Required angle= 
11

30
2

M H  

= 
11

40 3 30
2

  

= 220 – 90 = 130º
17. (D)                       Attended

40
50 20 girls

100
 

50
70

100
  = 35 boys.

% attended = 
Attended

100
Total



20 35
100

50 70






55 550
100

120 12
   = 45.83 46%

18. (D)

ter ner
ger you can

determine

fer ler ter ker can she help me

mer der ger how are
you

19. (B)

T S

P Q R

wife/husband

Father Mother

BrotherBrother

(+)

(+) (+) (+)

(–)

20. (B) cabbac/cabbac/cabbac
21. (B)

22. (A) R  I  G  H  M  G

P  L  E  A  S  E    
then,

S L E E P

M I G G R

23. (D) 3 
A B 

7 9 
Total person in the row
7 + 3 + 9 = 19

24. (D) A + B = Sister
A B

A – B  = 
Brother

A B

A × B = 
Daughter

A B
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25. (B) P + Q   P is the brother of Q.
P × Q   P is the mother of Q.
P ÷ Q   P is sister of Q.

26. (C) A B C D E

Green covers

Yellow covers

New volumes

Old volumes

Law reports

Gazetteers

    

    

    

    

    

    

27. (D) Amar
Nitin
Keshav
Vijay
Kishan

28. (A) PREY,  PERY

29. (D) S  T  R  E  A  M  L  I  N  E

1  2  3  4  5  6  7  8  9  10
T E a m /  MEAT

30. (A) + means >
– means >
| means <

  means <

× means =

  means 
then x   y > z may give

 (A) x > y  z

 

(B)  =  < 
(C)  =   
(D)     

x y z
x y z
x y z

<
> <

We have  > , therefore y z
reject (B), (C) & D.

Hence; (A) is our answer.
31. (C) (A) MONDAY (B) FRIDAY

(C) HOLIDAY (D) WEDNESDAY

32. (C) 4
M V

10 9 
Total girls = 10 + 4 + 9 = 23

33. (A) 8 × 4 + 6 ÷ 3 – 4
8 × 4 + 2 – 4
32 + 2 – 4
34 – 4 = 30

34. (D)  14 × 3 – 12 + 4 ÷ 2
14 × 3 – 12 + 2
42 – 12 + 2
44 – 12 = 32

35. (A)

10km
6km

B

D
3k

A

4

Required distance and direction

AD = 2 2AC +AB

 = 2 24 3   = 16 9

 = 5 km North-east
36. (D)

37. (C)
L  E  M  O  N

L  O,  M  N
38. (A) S  T  A  B  L   E

1  2  3  4  5  6

  and L  A  B O  U  R

5  3  4  7  8  9
then,
B  O  T  T  L  E

4  7  2  2  5  6
39. (B) 8 ÷ 4 × 2 + 5 – 3

2 × 2 + 5 – 3
4 + 5 – 3
9 – 3 = 6

40. (C) Factor of 7

41. (D)

W  A  S  H  I  N  G  T  O  N

1  2  3  4  5  6  7  8  9  10

23  1  19  8  9  14  7  20  15  14 

42. (C) 4 : 40 is the mirror image of 7 : 20.
Threfore she is on time.

43. (C) Sum of first-15 +ve whole numbers

=  
15 16

120
2




Their average =  
120

15
 = 8

44. (D)
45. (A)

1  2  3  4  

5  6  

7  
8  
9  10

11
12

13

These are triangles in the given figures
1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13
(1, 2 ), (2, 3), (3, 4), (6, 7), (7, 8), (8, 9),
(10, 11), (11, 12), (12, 13), (1, 2, 3,) (2, 3, 4)
(6, 7, 8,) (10, 11, 12), (11, 12, 13), (1  to  4),
(6  to 9), (10 to 13) and (1 – 13)

46. (D)
B

90°
6km8km

A l

Required distance a = 2 2AB +AC

= 2 28 +6  = 64 36

= 100  = 10 km
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187. (B) In order to calculate the total power
consumed in the circuit. First off all
calculate the net current in the circuit
element by using superposition
theorem.

Case I . Take 4V source

4
1 . ( )

4
i amp A B C   

Case II. Take 2A source here current

in each 2 resistance will be 1 amp.

(B   A and B   C)

Net current in branch AB resistance
R = 1 – 1 = 0

Net current in branch BC resistance
RBC = 1 + 1 = 2 amp.

Power consumed in branch BC = I2

RBC = 22 . 2 = 8 W

188. (D) Current in branch EF = 
1

1
 = 1 amp

Current in Branch AB = 
2

1 1
ABV




= 2 amp

Current in branch CA = 1 + 2 = 3 amp.

Current in

CD = 
1 1
CD CA ABV V V



         = 
3 1 2 1

1

  

    = 5 amp

Current in branch GC = 5 + 3 = 8 amp

Now,       Vs = VGC + VCD

           = 1 × 8 + 1 × 5

           = 13 V

190. (C) Leq = L1 + L2 + L3 – 2M1 + 2M2 – 2M3

= 4 + 5 + 6 – 2 × 1 + 2 × 2 – 2 × 3

           = 15 – 2 + 4 – 6

            = 11 H

191. (D) Let the network contains two resistors in

           2
2

V
I or V IR

R
= =              .....(1)

If the value of resistance increases to
two times

I becomes 
1

2
 and R becomes 2R.

so new voltage

1
2 . . (2 ) 2

2
V R IR V   

Hence, alternative (D) is correct.

192. (C) On applying superposition theorem.

Case I. Taken current source in this
situation the 6A circuit becomes.

6 1
2 ( )

2 1
I A B


  



Case II. Taken voltage source : In this
situation the circuit becomes
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Note : Here 3  resistance is a extra

element because voltage at node B is

independent of the resistance 3 .

1

3
1 ( )

2 1
I amp B A  



The net current in 2 resistance

     i = I – I1 = 2 – 1 =1 amp.    (A   B)

193. (C) Given that network has 7 nodes and 5
independent loop.

               B – L + 1 = nodes

               B – 5 + 1 = 7

               B = 12 – 1 = 11

194. (D)            
1

1

2 eq

f
L C




here         Leq = L1 + L2 – 2M

                 = 2 + 2 – 2 × 1 = 2

so              C = 1 F

1 1

2 2 1 2 2
rf  

 

195. (B) Nodal at Vx

20
8

2 5
x xV V 
 

7 Vx – 40 = 80

7 Vx = 120

   
120

7
xV =

196. (C) Calculation for Rth

   
15 5

15||5
15 5

thR


 


or    
75 15

20 4
thR = = W

Calculation for Vth

      
5

20 5
5 15

I   


 amp.

          Vth = I × 5 = 5 × 5 = 25 V

199. (A) This can be solved by using Star to Delta

transformation.

R12 = 
1 2 2 3 3 1

3

R R R R R R

R

+ +

= 
1 1 ( 1) ( 1) ( 1) ( 1)

1

J J J J J J

J

       



= 

2 2 2J J J
J

J

  
 



R23 = 

2
1 2 2 3 3 1

1

R R R R R R J
J

R J

  
  

R31 = 
2

1 2 2 3 3 1

2

R R R R R R J
J

R J

  
 



